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"1 TpeHNpPOBOYHbIN XypHar
wermer] KETTLER WORLD TOURS 2.0
Ums: Alex Dopora: Saint-Petersburg
Uma: Glad Oom: home
TpeHaxep: X1 Tuna Puls
MapLupyTa:
MapupyT: 30-MMHYTHas TPeHMpPOBKa Mo Nepece4eHHON MeCTHOCTU (MHTEHCMBHAS)
KommeHTapum: ConpotueneHue/gnanasoH nynbca: 90% nukoBsbIn/65% BoccTaHoeneHne = 150-110 ya/mMuH
The example is based on a 50-year old.

Oara: 13.01.2018 19:30

TpeHupoBo4HOE BpEMS:
TpeHupoBoOYHas
AUCTaHUuS:

Pacxon aHeprum

Bec:

duTHec-oLeHKa:

CKopocTb:
Mynbc:
Harpys3ka:
O6/MuH
Temn:

MNynbc B BUAe npoueHTa:

TpeHupoBOYHbIe AaHHbIe
00:30:00 Y::muH:cek

13.00 km
224 kCal
107 kr
2.7 (HavanbHbii nynbc 164, KoHeyHbin nynbc 134, PasHuua -30 )
CpegH. MuHumym Makcumym
26.01 16.70 29.50 km/h
140 76 164 ya/m
130 25 150 Batr
73 47 83 1/MuH
2.31 2.03 3.59 MWH/KM
83.1 45.2 97.6



Harpyzka g B; MNynec B ya/muH; O6/muH B 1/mun; CkopocTe B kM/4
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GUEJO:[}{] 00:03:20  00:06:40  00:10:00 00:13:20 001640  00:20:00  00:23:20 00:26:40 003
Bpema [4:mMuH:cek]



CxuraHue xupa (5,6 %)

A3pobHas 30Ha (8,4 %)

BoccraHoBneHue (10,3 %)



